Monday                                                        [image: ]
[bookmark: _GoBack][image: ]
       b) Can you create a mystery number problem like the one above for a friend to solve? 

Answers below
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Answers Below
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1. Cali is trying to work out the calculation below. 
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2. Mrs Smith has 5 pencils. She shares these out to each of the children below. 
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1. Use the cards below to create as many calculations as you can. 
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2. Max is trying to solve the calculation below.
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b) When the two numbers in the outer segments of the circle are multiplied, they make the number on the inside
segment of the circle. Using the following digits, can you complete this diagram?
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c) Create your missing number puzzle like the ones above for a friend to solve.
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1) a) There are many possible solutions to this problem. For example,
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17+1=7
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The answer to the
calculationis 1.

Is she correct? Explain your answer.
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How many pencils do they have each?

Write a number sentence to prove your
answer.
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What has Max done wrong? Draw a bar
model to show your answer.
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1) Look at these number statements:

2

Give five possible values for each of the shapes so
that they fit the number statements above.

A -

+10 =

A + 100 =
@

m
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Each shape represents a whole number.

a) I'mthinking of a number.

When I divide my number by 10, it has fewer than 8 tens.
When I divide my number by 100, is has fewer than 6 tens.
What could my number be? Find five possibilities.
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1) Accept any correct combinations. For example,
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A

100 200 300 1s00 2000
. looo 2000 3000 1S 000 20 000

a) Accept any correct numbers. For example:
2700 =10 = 270 (7 tens)
2700 <100 = 27 (2 tens)
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1) a) Using the digit cards below, complete the diagram. Each row and column of three must multiply
together to make O. For every solution, each digit card may only be used once. Find five possible

answers.
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